»
>

I

1=y

—\

o)

=\

Wbk R S e G 9h

96 37 13 p Afea g #pi:zﬁgavsfkg:
96 &3 7 19 p % 461 = 7 5c§

98 & 37 2 p ¥ 497 % (o § R 2

100 & 12 7 19 p % 549 % e & 5k 2

102 & 10 7 7 p % 581 = 7 5c § K2

105 & 2 1 22 p % 628 = 7 5c § K2

105 & 12 7 26 p % 645 = (7 5c & 2

2 A g(.;—rﬁﬁ,ﬁ_ﬂq*)p&@v; R 00 e LN I gl S gﬂlﬁﬁ—gﬂ\fqé,l
IT o FT LATEE o

=y

= =R
G e B & &

3

EEw

\‘14

iﬁ
i i
i i

\-14 \-14

\‘14

R g p 10T B & RAs > A L FIERGE TR s AR KT B B AR)
ﬁéé:ﬁ CHFELE o SFPATLFALE L EFLL
7;15,1,@@1;1— dﬂz v H R AE AR E £

S BBRTIHM A LRRAFE R TFEFEVE AR A B B AR

:lt \\Xr

FAARTI E ARy LE e FrEl T4 RSy 4 242 (TIGP
FR) NP2 BPEMF BB T aBA PR A RBEL S FL
EIRE AR RED o

BB FRERARNIY CRBRART CFERA -

Iy

e g £ "é«%f? PR

- EPABEBFIEEFRAEY T LU P r F (i R RBPELINTR
TEE ORI FRREOIT EP 4T E

S EARELIFEE ARSI L LRI E Y PN 2 REEGE Y@
B RETRFELFA2505 R0 A »FGripErpELEWTRYEE
PP ERPEOIZFEARPE 25 E -

AL~ R 5‘34;*&@7 PR FRA fa s k(T B FAR) 2 4y H R

S AR R RS T

BRE £ B R ARG A L (- B LT 2 R
-~ E AR 3 RTE T 20,000 oo Fiedk i 8,000 o0 B~ k(O HFH A7)
5#ﬂ%€rf%wzﬁlii 12,000 ~ - B¢ dp gl AR S #RED 8,000

000 =~ o B & 4,000 ~ > e~ k(97 F=542)%
3

BLFE L 25 TR 2 - PR BETR 23R4

SHE - EPEE T 3 K 80 A o
- R IR AN BRI BRI
~%@£%i%c%iﬁ%*ﬁ?ﬁiﬂﬁao
T AR FR P EBTRTEY
PR - HEF X EYA s RIS R R A s B ABERE L
Bpe L g 4R Flpde o e g B S RER  BRER F 0 5
FEDAB ) EE L PR R R

'

ml‘



>
N

NE

>
N

\(

»
=Y

.
=3

EABEHE EE IS 4 RS 2 Rk
ABEPE EERET BT E FHEDERRS B Ay

ARG R R B AR H 0 BT o

7“?’3@{0

“~



